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b M-W's ours ‘ 'difference.v
2 9 7 2

3 23 ‘ 20 3

4 8L . 77 4

5 63 58 5

6 240 Y234 6
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No. of numbers n £ x with P(1, b)

x=32E4 - %=1024E4 largest n found

b

2 7 IR . 105
3 20 | 20 1330
4 92 1 100~ © 5833497

5 61 | 66 7726572
6 349 S an 9620063

7 199 247 . 9487050

8 153 210 8531205

9 534 - . 1117 . 10166362
10 746 1177 9981153
11 639 : 1581 ' 10219608
12 525 853 | 10203655
13 751 : 1511 10177200
14 921 “ 1651 10238703
15 2080 5972 10239754
16 1790 ; 5929 | 10239467
17 474 773 10120650
18 1086 2473 10228645
19 1580 4016 10230452
20 1472 4933 10233093
21 3717 14395 10237082
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No. of numbers n < 5E12 with P(a, b)

a,b number of n n found
7,10 1 3
7,9 | 1 2
4,5 1 2
5,6 none -
6,7 1 2
7,8 none -
8,9 none ) -

(b/a (>1)odds+ 5 Nfes ¥ n =313 3PER 1788 ¢
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No. of numbers n £ x with P(a, b)

a,b x = 2E4 x =512E4 largest n found
2,3 5 5 8
2,5 34 34 ' 507
2,7 46 | 48 3305430
2,9 87 99 1594135
2,11 113 163 4373430
2,13 135 196 4534467
2, 15 . 404 1036 5104333
2,17 393 751 . 4946795
2,19 187 476 5119215
2,21 460 1026 5074165
3,4 3 3 ' 5
3,5 4 4 24
3, 15 15 352
3, 12 - 12 497
3, 10 42 42 4409
3, 11 25 25 ' 2160
3,13 : 76 83 537808
3, 14 63 87 4696235
3, 16 45 47 202545
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